Engineering Mechanics – Statics CE 201-012 (02 & 03)

Notes: Lectures 23-27




The following notes summarize the key issues introduced in lectures 23-27. The issues stressed in these lectures are devoted to the analysis of plane trusses. Knowing that a truss structure is composed of two force members, these lectures will enable a student to: 

· Identify a truss structure and understand the load carrying mechanism of a truss structure [see Fig. 1 below].

· Study the overall rigid body equilibrium of 2D truss structures.

· Utilize either: a) method of joints equilibrium; or b) method of sections equilibrium to determine member forces.

· Identify zero force members.

· See when it is easier to use the method of joints or the method of sections to determine the force in a member in the truss.

The following example will illustrate the key steps involved in studying equilibrium of 2D truss using the two methods of truss analysis.
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Note: A typical advantageous application of the method of joints is seen if one desires to find the force in member IE. Since members HF and FI are zero force members, the method of joints is used to determine FIE.














































































Fig. 1:










Dr. Saeid A. Alghamdi:


3/3

